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Chapter 6 Review

Part 1:
Find the slope of the line through each of the points.

a) (6,6) (6,-11)

M=Yz-Y, « =l=b -N
X =% t-6 O

b) (10, -14), (-2, 2) n

< 9= _ a4y _ .k -3-
2-10 9-@0 -

C) (-7,-6), (-20,-1) d) (-20,14), (11, -18)
2:l--6 _-lve S mo -8y _ -&-1y
201 W o W--20 l1+20

-32

3

Part 2:

Write the following equations in slope-intercept form, and then state the slope,
y-intercept and x-intercept.

!

Write the general form of the equation of each line given

3 Slopeg 3. yajntercept = P) Slope =9, y-intercept =4
,ﬁ 59 Ls':) Y=qx+4
3;5 +S
® 5 S
-=3qx + -
Se=-%*+3 0= W-y+y
3x +54-25=0

c) slope= -2, x-intercept=

"’5\0)

d) slope=_1, x-intercept= -6
2
3_3‘ = m(\t'zﬂ)

3 ' = mx-x,) 3_o= '_'7-(&—"0)

R T8 T
g = -acx o) 4= 4 (x +b)
3: “e =12
J o 9[3‘-_’& (a4
ax-)lj +3=0 2
y 2> lx+g)
y = x+6

Y
0 = x-2y+l
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Part 3: Graph the following

oty .2
a) }-':Exf2 ¥- b) 2 _v:ierl
3 M= brise 3
OJI\ S cua qu y,
|,
5 iV
/ V4
<L 5 bk dio > < 5 & b b dio >
—ur =0
c) 9x+y=5 9" qx “"5 d) 2x+y=5 y <
i )
% 5 45 ko 5 = ko \ >

oL L4
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Part 6:
Write the equation of a line in point slope form and in then slope intercept form
for each of the following:

a) slope = -5 b) slope = -2/3 c) point=(-6,-1)  Point= (2,5)
point= (-4,9) point= (5, -1) ms §== _ S\ - b
y-9=-5 (x—% Y- 2w =0 2% '§
- _ q -
Jy-az 50 W’"ﬁ)
3-&.‘ = "5& -0

+\ A 0"555 Lt- XM)]

3(5-") = -3(.&"53 ‘ [3*]]- E Cxt 0‘1

13»"'2.* 3 Uy = % F =Y
- l
= -a,‘,-g 4\6_'!:} -\'_;[’
WhICh of the following are perpendlcular or parall 2
S3w+d
a)y=3x+6, y=3x-3 50-‘;' b) y= %x -5, y= 2:;5 ) 4 T
R 13 m= ™7 ofe e So,
c) (54) (11, -2) with (7,6) (3,2) d) (7.6) (3,2) with (7.-3) (11,1)
Mm=-3-4 m:—e'i;, m:z Jb = )1=3
1-s 2 3 =
e ) $ 5 B = p3
- :l =+ "‘i 1=

PaN1p: ‘Pm ¢ SOMQ \>.) k\"‘l "+l
Deteknine the distance and midpoint for the following lines k“"

a){-4,3N5,6) b) (0,-9) (-7, 2)
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Part 8: 442.
Write the equation of a line, in point slope form for the following : ‘q ﬂ“é}
b) m:-a. 3 2
a)through: (2. 0), parallel to _\:zé.\‘ 3 b)through: (=2, 4).3]:)211‘3“8] to y=——x+3
y=2x2) Yy w-:u4a)
C)through: (2. 4). perp.to y=——x—135 dythrough: (5, 0), perp.to y=—x+5
7 3 m=-|

T 3:. ‘OQ‘S) m) =+
Y42 x-q) =3 Y= XS5
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Part 9:
Write the equation of a line for the following:

a) Find the equation of a line that passes through (-2,4) and has ae slope perpendicular to

Y;\Z;S& S_\.\z ._a\_u*a)

y <=\
nL=3

b) Find the equation of % line that passes through the points (1,-3) and (-5,2)
m= -:—_-_-‘- yt3= %\x- D ok
- - =5 (x+5)
= 5 8 - : - T (-x'

==

¢) Find the equation of a line that passes through the points (2,5) and (-11,-3)

=38 -8 . <S - -
" --3 -'3-% H 5 --‘53(»)‘ 2)

of
= £
Y+3 —TS(X.-HI)

d)Find the equation of a line that has the same x-intercept as this equation 6x +12 = 3y,
and also passes through the point (3,-5).

\e.hd:o
bx+19=0
5
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Part 3:
Sketch the graph of the following lines
b
b et
_}-—Sx 2 _\-—3x+
A A
. S A
/ /
. / 4
< // > < >
Tl s b hdio Y2 ; - I P P Y R P -
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U= -G +3 . axtS
C) 9x+y=35 d 2x+y=5 3
A A
A .
A .
1\ f
< \ > 3 >
Je s 1 3 b o \ 1 b5 bhdio 1
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Slope intercept form

Y-y, = m e
Genevel Form

MP (xyy) = [ XutXr  ditde
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Types of questions:
1) What is the slope between (2,3) and (7,-4)?

e = =
1-2 o

2) Using the points below, find the slope of each line(3,5) (-3,-5)

-5-S _ﬂ: i
-3-3 -6 3
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Finding Intercepts

X - Intercept - is where the graph crosses the x-axis (y = 0)

Y- Intercept - is where the graph crosses the y-axis (x = 0)

Example: What are the x and y intercepts for

a) 2x +3y=12
ALind 3 "
%9 35‘5 <
d 0

b)x-3y=9

X ind
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Finding the Equation of a Line
Using slope y-intercept form to find the equation of a line

Slope y - intercept form > Yy =mx +b

Slope Y -Intercept

Slope - the steepness of a line

y - intercept - the point where a graph crosses the y-axis; the point where x =0

Example:

Given that a line has a slope of 3 and a y intercept of -2, what is the equation of the
line? ™m

3: 3x -

NN
2) A line passes through the points (4, 5) and (1, 3). The same line has ay
intercept of 4. What is the equation of the line?

M=2-9 b=\
37 -2
1-Y Ys $x +Y

-
.’/’—

L 4

2

3
=2
“ 3
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Point - Slope Form

You can also find the €q uation of a line if you are given a point and the slope of
the line. In order to do this you use the formula:

slope
Y ‘.3}5\1 = m(x _/Iljl

The x and y values from the given point

1) Find the equation of a line that passes through (-3,4) and has the same
slope as y = 3x + 2.
m:=3 y'- Y= (X-X\)

2) Find the equation of a line that passes through the points
(0,5) and (-2,1)

mz1\-S

—2-0 3—5 :QCX.-O)
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Parallel Lines

More on Slope...

Lines that are parallel will have the same slope.

Remember Y=mx+b m = slope

The lines y =3x + 1 and y = 3x -2 are parallel

You can see this when you graph it...
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Perpendicular Lines

When two lines are perpendicular, their slopes are the opposite
reciprocal of one another.

Example...
The lines y =2x + 1 and y = -1/2x + 1 are perpendicular.

Again, you can see this when you graph the two lines on a coordinate
plane.

Example:
What is the slope of each pair of lines? Are they
parallel or perpendicular?

a) y=2x-4 m’a paradld ) y—4 m=O ?arum

y=2x-8 mz3 y=9 m=0
\s
&
=\ 2 R
) y=4x M=1 RP d x=4 - YPC
=-1/4x m=d = y=4 =02 o

?e(pm&m\a; @
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Rearranging Equations
Anytime we have looked at equations of lines that have all been in the
form y = mx + b. However, there are some cases in which an equation

is written in a different form and we have to rearrange it in order to
putitin y = mx + b form.

For example: Write 3x +y =7 in the formy=mx +b

Rearrange the following equations in the formy=mx + b

>
a)2x+y=4 b)3x-3y=9
9 Y = —Ax+Y :35 -'B:‘ﬁ
—} - -
y= X =3
+2y-12=0 dy+4=10
c)x+2y 5 N )y & X
"-Bz =7 3 Y= lox-y
=2y
WEES L
e) 2y = 50x - 100 f)2x =-y+13
T r 2 J

[lj: ’x "5°X %x’,‘: ":;\_

' “2x+n =j 5
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Graphing

1. Using a Table of Values o
2. Usingy=mx+b
3. Using intercepts

10 -8 -6 4 -2 2 4 6 8 10
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